BOARD OF TRUSTEES OF COMMUNITY COLLEGE DISTRICT NO. 508 County of Cook and State of Illinois

PERSONNEL REPORT LECTURESHIPS AND FACULTY OVERTIME ASSIGNMENTS

THE CHANCELLOR

RECOMMENDS that the Board of Trustees approve:

LECTURESHIP ASSIGNMENTS

The following persons be employed as **lecturers** for the **Spring Semester 2000 - January 10, 2000 to May 20, 2000 -** for the number of weeks indicated:

| Name | Pay Hours | Subject or Field | Lectureship Salary | Number of Weeks | |
|--|--------------|---|-----------------------|--------------------|--|
| DALEY COLLEGE | | | | | |
| Neyestani, Ahmad | 4 | Mathematics | \$ 994.32 | 8 | |
| KENNEDY-KING COLLEGE | | | | | |
| Chism, Michael S. | 3 | General Studies | \$1,305.00 | 17 | |
| Cramer, George C. | 4 | Business | 1,740.00 | 17 | |
| Fehrenbacher, Nancy | | Dental Hygiene (8 hrs./wk. x 10 wks. @ \$27.1 | 2,174.40 | 10 | |
| Holland, Rita | 3 | English | 1,305.00 | 13 | |
| Muhammad, Osceola | | Photo Offset | 1,386.18 | 17 | |
| | | (total 51 hours @ \$27.18/hr.) | | | |
| Samore, Elizabeth | | Dental Hygiene | 5,694.32 | 17 | |
| Contide Etherman I D | 2 | (8 hrs./wk. x 17 wks. @ \$41.8 | | 17 | |
| Smith, Fitzgreal B. Smith, Fitzgreal B. | 3 3 | Physical Education Physical Education | 1,305.00 1,305.00 | 17 17 | |
| Sitiliti, i lizgiteal b. | J | i fiyalcai Luucation | 1,000.00 | 17 | |

21925 1

(PERSONNEL REPORT - LECTURESHIP AND FACULTY OVERTIME ASSIGNMENTS)

- 2 -

| Name | Pay Hours | Subject or Field | Lectureship Salary | Number of Weeks | | |
|--|-----------------------|---|--|---------------------------------|--|--|
| MALCOLM X COLLEGE | | | | | | |
| Green, Yvette Jones, Alandria Mhoon, Juanita Packard, Richard | 3 6 3 3 | Mortuary Science Pharmacy Tech. Child Development Business | \$1,305.00 2,610.00 1,305.00 1,305.00 | 17 19.5 9 17 | | |
| OLIVE-HARVEY COLLE | GE | | | | | |
| Hunter, Valerie Hunter, Valerie Jones, J. Roi Jones, J. Roi Parker, Valerie T. Vargas, Maria A. | 3 3 3 3 4 | English English Law Enforcement Law Enforcement Business Spanish | \$1,305.00 1,305.00 1,500.00 1,500.00 1,305.00 1,637.65 | 17 17 13 13 8 16 | | |
| TRUMAN COLLEGE | | | | | | |
| Compton, R. S. Greene, Gerald Haji, Ogar A. Johanson, Dorothy Lepley, Mary Lepley, Mary Stone, Jeffrey | 3 3 3 3 | Social Science Social Science Data Processing Commun. Media/Art Nursing (6 hrs./wk. x 5 wks. @ \$41.87 Nursing (6 hrs./wk. x 5 wks. @ \$41.87 Biology | 1,256.10 | 8 8 17 17 5 5 | | |
| WASHINGTON COLLEC | 3E | | | | | |
| Purifoye, Gwendolyn Purifoye, Gwendolyn Sommerville, Robert Sommerville, Robert Sommerville, Robert | 1 1 1 1 | General Studies Counseling Counseling Counseling Counseling | \$ 435.00 435.00 435.00 435.00 435.00 | 17 17 17 17 17 | | |

- 3 -

VOCATIONAL LECTURESHIP ASSIGNMENTS - (SPRING 2000)

the following members be given an vocational lectureship assignment:

KENNEDY-KING COLLEGE - (DAWSON)

Allen, Valarie -- total 53 hours x \$20 per hour = \$1,060.00 (class 334-988 DO10) (2/28/00 - 4/28/00 = 8 weeks, for Vocational Course)

Cooper, Catherine -- total 80 hours x \$20 per hour = \$1,600.00 (class 330-550 DO13) (2/28/00 - 4/28/00 = 8 weeks, for Vocational Course)

Harris, William -- total 32 hours x \$20 per hour = \$640.00 (class 330-503 DO10) (2/28/00 - 4/28/00 = 8 weeks, for Vocational Course)

Harris, William -- total 32 hours x \$20 per hour = \$640.00 (class 330-503 DO13)

(2/28/00 - 4/28/00 = 8 weeks, for Vocational Course)

Marchevskiy, Feliks -- total 192 hours x \$20 per hour = \$3,840.00 (class 334-989 DT08)

(3/6/00 - 5/5/00 = 8 weeks, for Vocational Course)

TRUMAN COLLEGE

Ardolino, Michael -- total 35 hours x \$20 per hour = \$700.00 (class 334-570 TCFA)

(3/27/00 - 3/31/00 = 1 week, for Vocational Course)

FACULTY OVERTIME ASSIGNMENTS - (SPRING 2000)

the following full-time faculty members be given an overtime assignment for the **Spring Semester 2000 - January 10,2000 to May 20, 2000 -** for the number of weeks indicated:

| Name | Pay Hours | Subject or Field | 30% Base <u>Salary</u> | Number of Weeks | |
|--|--------------|------------------------------------|---------------------------|-----------------|--|
| KENNEDY-KING COLLEGE | | | | | |
| Lanum Jr., Andrew C. Rhodes, Prentiss | 4 3 | Photo Offset Physical Education | \$3,516.32 1,977.97 | 18 18 | |

- 4 -

FACULTY OVERTIME ASSIGNMENTS - (SPRING 2000) (Cont.)

| Name | Pay <u>Hours</u> | Subject or <u>Field</u> | 30% Base Salary | Number of Weeks | | |
|--|---------------------|---|--|----------------------------|--|--|
| KENNEDY-KING COLLEGE - (Cont.) | | | | | | |
| Ross, Larry Ross, Larry Wright, Herstine | 3 3 3 | Social Science Social Science English | \$1,710.00 1,710.00 2,014.01 | 18 18 18 | | |
| MALCOLM X COLLEGI | Ē | | | | | |
| Martin, Martha Miller, Edward Miller, Edward Parks, Christine | 3 2 3 3 | Medical Lab Tech. Pharmacy Tech. Pharmacy Tech. Data Processing | \$2,622.67 1,243.50 1,865.25 2,551.05 | 18 18 18 10 | | |
| OLIVE-HARVEY COLLEGE | | | | | | |
| Allen, Armstead Ashraf, Mohammad Ashraf, Mohammad Daniel, Fred Fox, Willalyn Russ, Daniel | 3 2 4 5 | African-American Studies Biology Biology Physical Science Librarian (7 hrs./wk. x 15 wks. @ \$16/ Electronics | \$2,580.41 1,267.68 2,535.37 5,785.93 1,680.00 hr.) 5,635.58 | 18 18 18 18 15 | | |
| TRUMAN COLLEGE | | | | | | |
| Hsiao, Chih-Ming Hsiao, Chih-Ming Karabatsas, Thomas | 4 2 1 | Mathematics Engineering Mathematics | \$2,569.70 1,284.85 713.08 | 18 18 18 | | |

- 5 -

FULL-TIME TRAINING SPECIALIST - ADDITIONAL ASSIGNMENTS

the following full-time training specialist members be given an additional assignment:

DALEY COLLEGE - (WSTI)

Perez, Arthur

total 147 hours x \$20.00 per hour = \$2,940.00

(1/24/00 - 3/24/00 = 42 days, 3.5 hrs. per day, Pilot Program)

KENNEDY-KING COLLEGE - (DAWSON)

Hunt, Jeanette

total 232 hours x \$19.00 per hour = \$4,408.00

(1/31/00 - 5/31/00 = 58 days, 4 hrs. Per day, Nursing Program)

AMENDMENTS

that Board Report #21871 adopted 4/6/2000 be amended to read:

DALEY COLLEGE

Basson, Alexander

decrease from \$1,740.00 (14 weeks) to \$745.71 (6 weeks)

(class Math 045-1101WRTM)

Basson, Alexander

the 2nd contract for Math (45-1121 WSUM) (\$1,740.00)(4 hours for

14 weeks)(control #210913) has been canceled.

MALCOLM X COLLEGE

Grimmette, Ronald

the contract for Pharmacy Tech. (62-205 X) (\$1,710.00) (3 hours)

(control # 211080) has been canceled.

- 6 -

AMENDMENTS - (Cont.)

that Board Report #21871 adopted 4/6/2000 be amended to read (Cont.):

OLIVE-HARVEY COLLEGE

increase from \$2,873.20 to \$3,420.00 (per union faculty OT rate Kahvand, Hassan

\$570/hr. x 6 hours) (class 077-231 UW)

the contract for Librarian (255 hours @ \$16 per hour = \$4,080.00) Simmons, Melnee

(control # 210899) has been canceled.

-- increase from \$2,116.16 (Physical Ed. 065-118 E) (3 hours) Traywick, James

to \$3,526.93 (Biology 023-121BD2) (5 hours)(control # 211236)

that Board Report #21812 adopted 3/2/2000 be amended to read:

DALEY COLLEGE

increase from \$1,074.78 (3 hours) to \$1,433.04 (4 hours) Herrera, Ezequiel

(control # 210830)

increase from \$1,305.00 (3 hours) to \$1,740.00 (4 hours)(17 weeks) Martinez-Lopez, Raul --

(control # 210676) (1st assignment)

increase from \$230.29 (3 hours) to \$307.08 (4 hours)(3 weeks) Martinez-Lopez, Raul ---

(control # 210677) (2nd assignment)

KENNEDY-KING COLLEGE

Harris, Arnell C. the contract for Theater (099-231 SGJ) (\$1,305.00) (3 hours for

13 weeks) (control # 210376) has been canceled.

- 7 -

AMENDMENTS - (Cont.)

that Board Report #21769 adopted 2/3/2000 be amended to read:

DALEY COLLEGE

Jurek, Joseph

increase from \$1500.00 (Lane II) to \$1,710.00 * (Lane III)* (*note: pay @ Lane III effective 3/30/00) (control #209726)

The Board of Trustees authorizes the Chancellor to inform all affected personnel of the action taken

Respectfully submitted,

Wayne D. Watson Chancellor

Approved:

Maritza Marrero

Vice Chancellor for Human Resources and Staff Development

May 4, 2000